
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

4, 664 × ________ = 4664 6, 479 × ________ = 64.79

2, 608 × ________ = 2608 9, 257 × ________ = 925.7

6, 56 × ________ = 6560 3, 18 × ________ = 3180

6, 763 × ________ = 6763 7, 567 × ________ = 75.67

2, 917 × ________ = 2917 7, 743 × ________ = 774.3

4, 864 × ________ = 486.4 1, 391 × ________ = 139.1

9, 044 × ________ = 90.44 9, 37 × ________ = 93.7

5, 343 × ________ = 534.3 10, 022 × ________ = 1002.2

1, 335 × ________ = 1335 5, 664 × ________ = 5664

6, 432 × ________ = 64.32 8, 057 × ________ = 8057
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

4, 664 × 1000 = 4664 6, 479 × 10 = 64.79

2, 608 × 1000 = 2608 9, 257 × 100 = 925.7

6, 56 × 1000 = 6560 3, 18 × 1000 = 3180

6, 763 × 1000 = 6763 7, 567 × 10 = 75.67

2, 917 × 1000 = 2917 7, 743 × 100 = 774.3

4, 864 × 100 = 486.4 1, 391 × 100 = 139.1

9, 044 × 10 = 90.44 9, 37 × 10 = 93.7

5, 343 × 100 = 534.3 10, 022 × 100 = 1002.2

1, 335 × 1000 = 1335 5, 664 × 1000 = 5664

6, 432 × 10 = 64.32 8, 057 × 1000 = 8057
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